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1 [Eota'7t of ¢ E0}? T3 LIRS ME MEE 14,000 1 14,000 90 12,600
2 [1007H2] 7|9 EE 9= si= OtsHAHEE otmots YA H R &G | 33,000 1 33,000 £l 29,700
3 [100d = & a3kel 3 Mzkstm 13,500 1 13,500 90 12,150
4 |1002H /, Z2|0j0] Z250| RFE I HE HIAY O| SEf, MX{2 He2s 24,000 1 24,000 90 21,600
5 |[10CHZt 2HOtOf Bt o AL - 20T HO 2 = '2AXISH Q| IHSEAL 28 Lt OF 14,000 1 14,000 El) 12,600
6 [10CHEtTH HHFEA] 2FOFOF & AFXFE O 100 75 HEEA 16,900 1 16,900 £l 15,210
7 [1oCHEtP HEEA] OtoF & MAH 1 40 Agd HEHEA 16,900 1 16,900 90 15,210
8 |10CHE flet Ol 7t4|7| AZtAE oe 7t 7| Ho|2t=4lst 12,000 1 12,000 £l 10,800
9 |[10CHE STt BHOFMZ AFO|E C}7HA| =SHETA 14,500 1 14,500 90 13,050
10 ;?;E ;I;j :mloi?xlg' OIOF] - IABIOILOIM AlZIOHIEX], N Bet ZEhH| ATt B 7| E2{AAH 16,800 1 16,800 90 15,120
11 [100HE S &Mt LAY Haga 17,000 1 17,000 90 15,300
12 |10CHE 92t 8 T N = QHM = Q| 21 HAEN 17,000 1 17,000 90 15,300
13 [100HE 2%t B2 7|¢ U7 AHZE=E =g 17,000 1 17,000 90 15,300
14 [10HE 9% S22 = FaRsh HAEN 16,000 1 16,000 El) 14,400 TDAFAE £ A
15 [10CHO| & HOot MEIH7F &[0 42 L, OfE A ete oro|2 2y 2F0}0| 14,500 1 14,500 90 13,050
16 |10CHOIA| H3st= =2t ozd SHET 15,800 1 15,800 90 14,220
17 [10CHRE S3t= MAAL O]OF7] &=4E 2t 16,000 1 16,000 90 14,400
18 [10CHet S5t= OfQ H-E5tX} 0]0F7| 48319 98 Mot Y3 18,000 1 18,000 90 16,200
19 |10CHet S5t= %} 0[0}7| O| x|z o3| 15,000 1 15,000 90 13,500
20 |14EEH AESH= 12 1=0] AFO| & CHFHA| EolE 14,000 1 14,000 90 12,600
21 [14H2E AZS = Lo A 5 35 LZat 24 EQIE 15,000 1 15,000 90 13,500
22 |1592 Mol Zg At ohztel ZEH I 22,000 1 22,000 90 19,800
23 [1923 ZtECiEHY, ESS M2t gl ay oA 20,000 1 20,000 90 18,000
24 (1958, /@t HEE a4 EhH| 12,000 1 12,000 90 10,800
25 [ML1EH0l 122 E Bl IT3F FotA =EHET 17,000 1 17,000 90 15,300
26 MY 1EHO 122 Bl 2835 o84 =T 17,000 1 17,000 90 15,300
27 [1 1HO0|X| SO O ¥ 365 =4 x| 19,900 1 19,900 90 17,910
28 (2024 Oj2f ntet E”E = g atet fI=EHS A 22,000 1 22,000 90 19,800
29 (2024 M Eo B2 ZHSI= UL AALA HalE AASA QI A AICH DA 7|2 17,000 1 17,000 90 15,300
30 2024 2AS=s E51 - RpALD A7 AT4MQF HE Aol 2Y AlCH DA 7] % 23,000 1 23,000 90 20,700
31 |20534 O], 11 =4’ 0|0F7| 27 229 35,000 1 35,000 90 31,500
32 [2174K] HEE0H 22 A|38! zed H2c 15,000 1 15,000 90 13,500
33 B MACITE E LojEntar ZEjZ =20l 16,800 1 16,800 90 15,120
34 |4-30] LIO||A| 24 2 ohA g Che 16,800 1 16,800 90 15,120
35 [6mAl 21 A = 2T)2|§A 15,800 1 15,800 %0 14,220
36 |7212| OHEA CHOJOLt 21 &4 7}gof 2lo| 18,000 1 18,000 90 16,200
37 |AI2024 ERMEREEHW T} 457 ADLESEA 22,000 1 22,000 90 19,800




AIAILH, OJZI0| £ @It 22| 2t Al 2[HE2{A| el EErE 13,000 1 13,000 90 11,700
BTS oOf0| M2& 7ttt Of2|Lt A2 3 FE HEM2 18,000 1 18,000 90 16,200
CIA 2M717h 28] F= 748 w20 BE A AlC| L QE|A UG A~ 23,000 1 23,000 90 20,700
DNAZ2| H2| B = 1fst HLZ ol =2 17,000 1 17,000 90 15,300
ISDS & &Lk = F3].0| S El 7Hotn 15,000 1 15,000 £l 13,500
mRNA &%, MAE ot 4l HLZ o= 18,000 1 18,000 90 16,200
o121 2t2 Lo & 2| LHE | 14,000 1 14,000 %0 12,600
SFE 10| Zof gt ct 42 g, 0]23|, 0| X| 2o M (ZOjLIF) 18,500 1 18,500 90 16,650
SFES & F et i H 7| £t ELLEY 18,000 1 18,000 90 16,200
SFet g2t ofC| &= et SmEAMExd 17,000 1 17,000 90 15,300
SNSQt ATIEE F= O{EA At AUE-FHE-de2 SO oHH| 15,000 1 15,000 90 13,500
SUL| AlLH 23 AEXIL 17,000 1 17,000 90 15,300
The =53 HAE AJAA A AL A AT A ACHA|Z|E 17,000 1 17,000 £l 15,300
7tk OFO| &2 O{E A O|20| E|=7t ZR|Lt = H|7H 17,500 1 17,500 90 15,750
Z}EXCHE O QtE2|Oof Apm|2tF E2I3AH 18,000 1 18,000 90 16,200
7HE MRl A E 9ok CHY o HEkA o4 Z0[5t2A 17,500 1 17,500 90 15,750
TR FA MAOIA AOFET| - of L AR 2 O Wa| AN = o] £ 17,000 1 17,000 90 15,300
ZHEHO{X|= AT 1. #A0| HE HEO Hiel= o2& 15,000 1 15,000 90 13,500
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ZS0| dE0| 2 Ij gt27]| ZFEEY 17,000 1 17,000 90 15,300
EEE ' SEFL 0 12,500 1 12,500 90 11,250
dsHel T2 LHE e = EMEE S5 17,000 1 17,000 90 15,300
o8 BHE R HO|X[25 A 19,800 1 19,800 90 17,820
7 2o =9 +50 Aes 17,000 1 17,000 90 15,300
48 = 2|C|of B 2t H|X| Mole=am 15,000 1 15,000 90 13,500
Z=o Tn 35 = HH DS 17,000 1 17,000 90 15,300
JH7 2= Meto| SHiojatn? - S8 &4 HIET | E =222 &4 14,000 1 14,000 El) 12,600
Wt Lt FHEetel RN 18,000 1 18,000 90 16,200
217], AR0|| : Mt B0 CHiCt X|of 2 Tl books(ZI M EEHAY 27,000 1 27,000 90 24,300
A7|, ALtr? ol S24 11,000 1 11,000 90 9,900
A¥n7| A& ItE EA|L2] Sz 16700 1 16,700 90 15,030
AEE X|Ltotet e E7Pg A 14,000 1 14,000 90 12,600
AE2| 210] dA= STUX| AR A 18,500 1 18,500 90 16,650
A3 Adte A Y= MRS HE ZO0| MA HZEL|AEA 17,800 1 17,800 90 16,020
BAM BHL gad 16,000 1 16,000 El) 14,400
480N, &, Ls| A ol Y& 13,000 1 13,000 90 11,700
4ojel o= 423 | 16,000 1 16,000 90 14,400
4o|232| 2 27} C o7 29 19,800 1 19,800 90 17,820
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119 |33l X|7E af2|= o2furet = 2 E Hojgo|C|of 15,000 1 15,000 £l 13,500
120 | 32RO, 1T 7|= 4 L2 2t 13,800 1 13,800 90 12,420
121 |3a80], 7|= Hat ZHE Lt 2t 13,800 1 13,800 90 12,420
122 |3a8of, Y HE= LHE 2t 13,800 1 13,800 90 12,420
123 |30, LA AX| A LIS A2t 13,800 1 13,800 90 12,420
124 |30, B FE 44 LHR A2t 13,800 1 13,800 90 12,420
125 |Ha 324 o =3 IR G A 14,000 1 14,000 90 12,600
126 |HOl22 &2 L2 IFE 2 et 3z 14,800 1 14,800 90 13,320
127 |2 22 Z Hl Heg 2%ta | 15,000 1 15,000 90 13,500
128 |20 Hl7F A ZCHH st £ ot TY 12,500 1 12,500 90 11,250
129 |O2g & f2l= O|Lte AlZFL 0 13,000 1 13,000 90 11,700
130 |20 4 of 2RA0{? 2o Axg 13,000 1 13,000 90 11,700
131 |Z2iAM O 2-80{7F MitHe f2|Fe AHAZ 13,000 1 13,000 90 11,700
132 |32fM O] 20| MZirHe: 22T 2l dYAZE 13,000 1 13,000 90 11,700
133 | 22§ M O SHX}OI7 M 2ACH R <2|Fe dHAE 13,000 1 13,000 90 11,700
134 |32iM 271 #oj a2 O|atZl ANE 15,000 1 15,000 90 13,500
135 |2 &M, delgo] 27| S0 Z|HE M2 EY ZExL) 16,800 1 16,800 90 15,120
136 |2 & LIR7F Xp2tct 484 EELIR 12,000 1 12,000 90 10,800
137 |2 AEFR0|7} £ ULt ORA|AHOIE HE2|2 18 M I A 14,800 1 14,800 90 13,320
138 || OfHX|7} ElCt agoct s|27t= 20j| 0| X] = 2| Of 19,800 1 19,800 90 17,820
139 |d2|= 0 - 38 02 0|9 A|[MeZ 7|85 28 e N =233 16,800 1 16,800 90 15,120
140 |28ICHs A oM sl = Hofolurgr 17,000 1 17,000 90 15,300
141 |38 £22 S0{Zk 3l7tS: ftiet 3759 2 Yot sHHARE oAzt LR 0|23t 29,000 1 29,000 90 26,100
142 |38 gl= "-me[1ois udnls +¢ a4zl A5 22,000 1 22,000 90 19,800 TAMAIE
143 |23 27 20| Ci= O AT 0= ZAHO|A e 22,000 1 22,000 90 19,800
144 | Q202 HjR= ZA AL - 20| O HAS A7 REO] Z™A =7t 29 0| &3] QI = THALA AL 18,500 1 18,500 90 16,650
145 |22 He I8 FAH = 24,000 1 24,000 90 21,600
146 |2 2M 2 SSICt gfofzt =%, ALtg, ooy o|F2l5A 22,000 1 22,000 90 19,800
147 (22 20| MCF- ZATHOM &2 4771 JEM HE 0| Ho|ate 4t 17,000 1 17,000 90 15,300
148 |38l &, Ol A0 HC= E|ZH E ¥ EPJYIE 32,000 1 32,000 90 28,800
149 |[22Y ZEFO| B LIX| =Y, AH|0|E 2{A|0F J2| 1 LHZHE ehot ZHY 2HT 3 HHEA 30,000 1 30,000 90 27,000
150 |52 22 HEE YX|E SHE 16,000 1 16,000 90 14,400
151 |71 2ol 24 0|54 020|158 13,000 1 13,000 90 11,700
152 |7|2250| M&tS HHCt RED 7o @l 14,000 1 14,000 90 12,600
153 |71 AFH|, SHAIZE LI HMH2 N g RS 14,800 1 14,800 90 13,320
154 |7|=22} B4 9| 34|22 & |2 ZH7| | 25,000 1 25,000 90 22,500
155 | 7|2 HiglE S 7t 72 107HX] 02|y HY-AERE SFalotolE 15,000 1 15,000 90 13,500
156 |7I2 2 CHAl A= MAIAL - QALE FIEE X|2|e] &, 7|2 & FlHiE 2172l Oj2f o|l=gl ZojLtF 18,500 1 18,500 90 16,650
157 |712217], A0 XM L7t? [10CHE st M4 HMCHZ 27| 2] ofz|, Z2&0| =2 7tatgt 15,000 1 15,000 90 13,500
158 |48 E MES-FAS 2|z MCE Bdst= ML 28R HHE cretojC|of 42,000 1 42,000 90 37,800 A
159 [7HAst T M o| 7t = ZHC kst HESA 14,000 1 14,000 90 12,600




160 |7H&3tmA 1. 2| DNA&E T ZE% SOFA|OFALO| Q1T A 12,000 1 12,000 90 10,800
161 | Y Fel& ZA% 2 SHEA 14,500 1 14,500 90 13,050
162 |7HE! S0| LOjOF 1 AFO|2 o] S0{2C} =225 LK 10| X|2 18,800 1 18,800 90 16,920
163 |12|0] 1E|E F= sh=2| &9 0[0f7| fE= ZFL|OfEfS} 14,500 1 14,500 90 13,050
164 |20 WE|E F= 28 ADAA BFEY ZFL|OjEfE} 16,800 1 16,800 £l 15,120
165 |mOF YIS O - H /oM A 2RO Ml 28 13,800 1 13,800 90 12,420
166 |ZH HFI HAH A 17,000 1 17,000 £l 15,300
167 |R2 7|0l SOLFAIH =R ZY FES Higt =2 34,800 1 34,800 90 31,320
168 | &2 SO AL} Tt 23t 2ZgA 17,500 1 17,500 90 15,750
169 |2 E2 M 4dL FE2EY 17,000 1 17,000 90 15,300
170 |81t = LAl OF7|3] 2 CHAbE A 18,800 1 18,800 90 16,920 TARAL
171 |82 &&= ot7th( 0| deg= FEETA 16,000 1 16,000 90 14,400
172 |H™ =2f Ot2 Z02 S5 13,000 1 13,000 90 11,700
173 |MOAEE B{Alotet 5= YE X[ 20,000 1 20,000 90 18,000
174 |Lt, E8ZEt O Xt s stAg| = 18,000 1 18,000 90 16,200
175 |Lte Y MER SsiE AIZISICH S ALOA 2 mEIHK|, AL E[= Lho| Q14 o7l AFX[L 18,000 1 18,000 90 16,200
176 |Lt= HEZE2|E 0|&2o| Zu| YL T mEZ =23z SR AR A 17,500 1 17,500 El) 15,750 DAFALH
177 |Lhs BIFEFO| Mo H1 AST? aM el =EsT 10,000 1 10,000 90 9,000
178 |Lhe =449 AW HIMALY L|CH o g e 13,000 1 13,000 90 11,700
179 |LtE =& S0t7: 0h30| SotstH Az SotsiCt =4 O30l 15,000 1 15,000 90 13,500
180 |Ltzte &F 24z 9 AAE 13,500 1 13,500 90 12,150
181 |LIRH =20t A5 = AMRE okt JhEH|EIESA 12,500 1 12,500 90 11,250
182 |LIE ZMe= &7 o|=¢d O A= 22,000 1 22,000 90 19,800
183 |LHE LIEHAI X240 =2 22X S| 13,000 1 13,000 90 11,700
184 |LHE X|¥F O e 13,000 1 13,000 90 11,700
185 |LHE X|7|= A7t HAM Y LCh o at M Y QHIIHH A 17,800 1 17,800 90 16,020
186 |LIE #&LCH OF2El 2t2 7H0p2a 2l 12,000 1 12,000 90 10,800
187 |LHR Y 27| & ol W 583 32 19,800 1 19,800 90 17,820
188 |LIAtel & ZHE ¢ AlaotE A 16,000 1 16,000 90 14,400
189 |Ltofdl A XS O] R 7t QACt Her EUol= 18,000 1 18,000 90 16,200
190 |LtQF 7HA} w2 [HEStu @52 Wi 2] digilo|ct 7t2| Bkl 16,000 1 16,000 90 14,400
191 |LIQ Al SEFO| [HHE W 252 Wi 3 782 Hogtm 14,500 1 14,500 90 13,050
192 |LIQF 97| HrE 2t ote ot Z0|of oj2fotol 13,000 1 13,000 90 11,700
193 |Ltet 2ozt SE QtE 2|0 0|0 gjzfotol 13,000 1 13,000 90 11,700
194 |LtQt Sotstn ote ot Z0|of oj2fotol 13,000 1 13,000 90 11,700
195 |Liet 43 QtE 2|0 0|0 gjzfotol 8,000 1 8,000 90 7,200
196 |Liet 280 2| 22| 70| TisiM Z g EERs 15,000 1 15,000 90 13,500
197 |Lte| == YX| Az Oof EAHE 16,000 1 16,000 90 14,400
198 |LIo| & HE|= SHRAMOIE dAE L2 o2t 16,800 1 16,800 90 15,120
199 |Lte| O|= 22 7|¥ MEM G| 18,000 1 18,000 90 16,200
200 |Ltof BF Z7|: M4 B E HMO|ES 2ot x Opgj=2 14,000 1 14,000 90 12,600




201 [Lte| AME, 0§ 7] oA 25} 11,200 11,200 90 10,080
202 |Lto] A|ZHS QOIFED 4 0fA: 1 Qo Attt 7|ThE2 Qo] BE AE S O2{ulg Heto|E 17,000 17,000 90 15,300
203 |Lto] Ol &S XAHE ME - DYt ZSStL AMESH| HE HAES|A S A= AL 16,800 16,800 90 15,120
204 |Lto] A= 2l 7|H ] 18,000 1 18,000 90 16,200
205 [Lto| 222 XS0 o|lol A|MO| HEE HHE St a0 2 Mol S 16,800 1 16,800 £l 15,120
206 |Lto| 0O|E M Z2tof A Z2tx 22,000 1 22,000 90 19,800
207 [Lte| o|&f2|oF 22 7| L] 18,000 1 18,000 90 16,200
208 |Lto| 2t 2 E2{2 MA!: BXE2| OpS0f A BHt ARASEX|BE D5 S Mol & 16,800 1 16,800 90 15,120
209 |Lto A x|atst ¢ E2{AAH 17,600 1 17,600 £l 15,840
210 |Ltol R X|7dst =9 - X|2|= O{EA MA AAE S2l0|=71? g 17,000 1 17,000 90 15,300
211 [LIO|E =EHste A 15,000 1 15,000 90 13,500
212 ;_lf]x@ Ol ofof7] : LHAM'E ZA2j2] S8 [ NS o S55t= 0|= 0|of AelmE 18,000 18,000 %0 16,200
213 |25 93 g2 QISA 14,000 1 14,000 90 12,600
214 |2 et Mok X Q DSHAt7F Ut 2tHSHA LT R = Ztzt &4 15,000 1 15,000 90 13,500
215 |20 2ojF2n QI ¥S JH|SHA| Ot 2HS 0| |25 A 17,500 1 17,500 El) 15,750
216 |'d=S AlZretL|Ch 22| Ljof 9jo ™ 2 Zio| EHatrict 243 2] 62 | O| H{ EHO| A 18,000 1 18,000 90 16,200
217 [ &2 A7t o= e Sy Az xS M2t EZe e 14,800 1 14,800 El) 13,320
218 |U A %£0]= S20] aote =3 S80|E MEZ07| 13,000 1 13,000 90 11,700
219 |Lf otol olm|L|E] A& Zrotat A= ojClos 17,800 1 17,800 El) 16,020
220 |U F|A 2& =3t0|0f: 7t|2 A2 K2 H Al O{-A|? 4ot 5l%2ts 13,000 1 13,000 90 11,700
221 |} FRIA 2& +=%}0|0f: ZO|HE2 ff HL2 2N} &0t RS 13,000 1 13,000 90 11,700
222 |U FL|A 28 £3t0|0f: EfZ 0| = N Ql= 40| UAS7F? 4ot sl2ts 13,000 1 13,000 90 11,700
223 (W7} H& =oF HAFOt O| M= CHY 8,000 1 8,000 90 7,200
224 (W7 LA B 2= A L=z d FEIEEIES 16,800 1 16,800 90 15,120
225 |U7t Ol HX|E H2t5H= O R e LIREMEARE 15,000 1 15,000 90 13,500
226 |LH7F 017] lojR EEIES SEETA 19,000 1 19,000 90 17,100
227 |W2{ElEQt & E: O|C|0| 240 i JEE < AXIL 25,000 1 25,000 90 22,500
228 |LHE 19 20j| 0| X] = 2| Of 19,000 1 19,000 90 17,100
229 |LHY. 20 rof|o| x| 2 2[of 19,000 1 19,000 90 17,100
230 |LHY2 L o| 74ty & Aok SOHLAE 16,700 1 16,700 90 15,030
231 [Wel mjaY ME 14,000 1 14,000 90 12,600
232 |HE 95t BA [2ataU B4 W 64] 2354 12,500 1 12,500 90 11,250
233 |HOA £ £20|1 H0jA: OfY st ghdstn XMt 225 23 2|2H) Mol S 17,000 1 17,000 90 15,300
234 |Ho| FA2|E Hof 1 EHLAE 16,000 1 16,000 90 14,400
235 || B2ARIE 20 3 2: H|Y KEHO| H|Y EHUAE 16,000 1 16,000 90 14,400
236 |42 RF= & LIo| *F ANSitE g 14,800 1 14,800 90 13,320
237 |H2] O|OF7|E SOIE X! - 7| HhAtel OF22 8l 2 7|2= Z7 0|0p7| ofz|EA 15,000 1 15,000 90 13,500
238 [d2| ele 21 X7bET 2 2y HiBl Ky 13,500 1 13,500 90 12,150
239 |€2| Lal= 2 2 A2 LSO Bl xH e 13,500 1 13,500 90 12,150
240 (U Ltojof 2ARtCEtH QlMo| Eetile #of e 10,000 1 10,000 90 9,000




241 |47t A 2 Y o S]] 15,000 1 15,000 90 13,500
242 |U7H UE L, O 5 MX|E R0 =i=] 15,800 1 15,800 90 14,220
243 |4/ AE|F geLt 2354 12,500 1 12,500 90 11,250
244 |UNZE FHR2ECH2 237 ZEHMZ 18,000 1 18,000 90 16,200
245 [WUEEA MAAL 02| 1Y% FEx 18,800 1 18,800 £l 16,920
246 | FHA AME RS | 14,000 1 14,000 90 12,600
247 |3 9l 0j2, MEE SX|7H Hadh - Al AT, o2 2 ¢ A3, ks, Uy R[OLIAE 16,000 1 16,000 El) 14,400
248 |32 E= & a5E O @ 14,000 1 14,000 90 12,600
249 (=R & g o=5o|C| 13,000 1 13,000 90 11,700
250 (=& A7 Mzt | 10,000 1 10,000 90 9,000
251 | I}20| Ot2EHIO|EE ABHE & 51213 2 12,500 1 12,500 90 11,250
252 |=l= O|EH RAHELS HAS=7) SdojHEl LUHE =N ST R ZOofjLEE 20,000 1 20,000 90 18,000
253 [&7k R2E g2 £+ 8l |= 00 NE2CH R 13,500 1 13,500 £l 12,150
254 |w=0| 20|X| &= El7et ol&S 22 7tct 7tQte %] otz| CHoRM Y 22,000 1 22,000 90 19,800
255 | X A delg 20|18 13,000 1 13,000 90 11,700
256 |2 21 I RA [0 XM A RCh: o] HEEAEE fo 52 2 S Mzl LI 2| 14,000 1 14,000 90 12,600
257 |=E|LHR =0 40| ZH|7H 14,000 1 14,000 90 12,600
258 [Ct &FX| 2ot & AFM EAE 18,000 1 18,000 90 16,200
259 |CHE H4loz 17| Z " Fstg 15,000 1 15,000 90 13,500
260 |CHAl 2= st m ot L Z2H 19,800 1 19,800 90 17,820
261 |Et StR2tE S Wik FA ! 08 Hh ZEI+2 13,500 1 13,500 90 12,150
262 |Th ok AtE B S ETAL 15,000 1 15,000 90 13,500
263 |Ctotst n sk S0t w2 9l Q17Ho| At ZAEY AAE 16,800 1 16,800 El) 15,120
264 |2ejel AH S HER B 13,000 1 13,000 90 11,700
265 [HUAHQ} HOo| oL 2715 HEDHLF 13,800 1 13,800 90 12,420
266 |49t MHO| & 2|5 HETHLE 12,800 1 12,800 90 11,520
267 |2kl ofo| QA TYAEEA 17,000 1 17,000 90 15,300
268 [HHWO| - B1& =%t o &7t O|AFR =X ojxel 5= X|oj2lof 17,500 1 17,500 90 15,750
269 [E4l2 of 7tHE A1 QlLte L2 o|c|ojs 18,800 1 18,800 90 16,920
270 [E4lo] 82 20| ofL|Ct QEL|Q XEE} ] 20,000 1 20,000 90 18,000
271 [E4lo] 25 Z0Y0|QF OpFXICHH 5 H|EtS A 13,800 1 13,800 90 12,420
272 |tids DMZo| &A%l Ot A5 25 20,000 1 20,000 90 18,000
273 |CHEHEl= Dj2f ug EYME s HEE EQIE 22,000 1 22,000 90 19,800
274 |fotBl= ZIEZE JH0|ES 1. 3SHA| Y HES ol 72! 59,000 1 59,000 90 53,100
275 |CietRls 22 3et JH0|E5 2: u A H SR ol 7 %! 45,000 1 45,000 90 40,500
276 |f2tBI= ZIEZIS 7H0|E5 3: AL A HES 0i| =% 45,000 1 45,000 90 40,500
277 |CetRls ZZ XSt JH0|ES 4: O X SAH SR o 77 29,000 1 29,000 90 26,100
278 |CHBIRIS ZI2 XSt JH0|E& 5 O X[ BHof =B 74| HES 0i| =% 45,000 1 45,000 90 40,500
279 |CietRls Z2Xet JH0|E& 6: A=A E SR ol 7 %! 45,000 1 45,000 90 40,500
280 |CHEHEI= TE2RS} 710|ES 7: XAHGIA Y HNES ol 72! 39,000 1 39,000 90 35,100
281 [CHEHRI=0IlA JHE A = DI Q3 N ES 19,800 1 19,800 90 17,820




282 [HE=2| AO|H] M4 & LIE X|7|= Fd CH 15,000 1 15,000 90 13,500

283 |Ef A|AEI(THE SYSTEM) AR OfFA Hl2| = 18,000 1 18,000 90 16,200

284 | E7HH| O & [YA! 17] et s O|X|& 14,000 1 14,000 90 12,600

285 | 227t AUCH - At2tX| D MOt Hop7t= dH 0]0F7| O| Xt = AlZX] 29,800 1 29,800 90 26,820

286 [=2i|0| ST L BA ajzfoto| 8,000 1 8,000 90 7,200

287 | =0rY LEO| me|Jt AratE of TR AAE 12,000 1 12,000 90 10,800

288 |EAMS JO|FY| 28 - © 7ol Jol&tt SE= ui 0|34t A 13,000 1 13,000 £l 11,700

289 | Al Of T A SPE MAX|2] = - X|2] e L EE £ A ol ZX| < FLO{Ef S} 16,800 1 16,800 90 15,120

290 [ZAl 50| 4F7| feRENS K1 OHAH ER 15,000 1 15,000 90 13,500

291 | A= dYHCH 25 O HT 229 Hi'do-F3 oldEA 15,000 1 15,000 90 13,500

292 | = =3 E20|0f 4: Xp7|2He| TS &OtM de|Lt | 13,000 1 13,000 90 11,700

293 | 28237t Rl ot 273 el 13,000 1 13,000 90 11,700

294 [EMo| 25 mlo| & ‘gzt AR 18,000 1 18,000 £l 16,200

295 | =5l =9 F=7t 0|et HHE 16,500 1 16,500 90 14,850

29 |EZEYT 22905 HArZ| 18,000 1 18,000 90 16,200

297 | =1t SCho| ZXEh ZHE A MA Q| Fant A2, 0|F o M2 HAM E27 OIC|E2|Y 25,000 1 25,000 90 22,500

298 [&&, m2E St 23 AR 14,000 1 14,000 90 12,600

299 |52l 0|4 Pk gl AR 20,000 1 20,000 90 18,000

300 [SshitE otsT EMEE &5 18,000 1 18,000 90 16,200

301 |EICH 818 52 =M &8 o|CHE O|X| A E2|d 16,800 1 16,800 90 15,120

302 |F2F2 Ut o|gM ot 20,000 1 20,000 El) 18,000

303 |F252 HEL B4 FLH S NES 15,000 1 15,000 90 13,500

304 |20/ &, DMZE ZC} - WHE 0| A 3HZIZHX] 500km2| 0] OF7| Bt Aot Ab2o| A 27,000 1 27,000 90 24,300

305 | CIH|O|Ef MEH =sHE | 20,000 1 20,000 90 18,000 SHA ALK
306 |C|& O|= &3 HHM 3| Q1 Bl 2HETHAF 19,800 1 19,800 90 17,820 DAFALH
307 || O|= 0|7 M2 Ho|glel1y H|2HETHAF 23,000 1 23,000 90 20,700 TAFALH
308 |C|& O|= AQA Mae EH2tETHAL 21,000 1 21,000 90 18,900 DAFALH
309 |E|2 O|= A9l 8|zl H2tESEAL 21,000 1 21,000 90 18,900 TAFALH
310 |C|2& O|= AJtZE o=z Bl 2HETHAF 19,800 1 19,800 90 17,820 DAFALH
311 [C]A o|= o|Etz|ot |79 2 Hl2t=ThAL 21,000 1 21,000 90 18,900 TAPAIE £ A
312 [C|& O|= Efo|&t MM El2t= At 21,000 1 21,000 90 18,900 TARAIE
313 [C|£ O|= mtE| doELI4Y H|2HEEHAF 20,000 1 20,000 90 18,000 TARALH
314 [C|A o|= A7t S AUH HIZHE T AL 19,800 1 19,800 90 17,820 BAHIEE A
315 |E|0f Or0] 2+0|7} 40| EOESTAL 14,000 1 14,000 90 12,600

316 |CIOf OO| BT a2 N g RS 13,500 1 13,500 90 12,150

317 [CI0f O0] m|2f: FAla =1 42 APHO|HME Ofs Xl Hot Ho| Qum|2t 2 dele= 19,800 1 19,800 90 17,820

318 |Clof, WO 22 3y 2HM 15,000 1 15,000 90 13,500

319 [CIME AHHE | =0]0] AR 23,000 1 23,000 90 20,700

320 |CIX|E a4l - M He 2212 MA M W Z2t0|HAE X|7|= | M 3| = E2|7(X|5tAh 16,800 1 16,800 90 15,120

321 |22l E [ChitAd HAEES 17) Axfol ChAbxi gt 13,000 1 13,000 90 11,700

322 |HHo|=2 A= 2, e 2 2[H| 0] & 12,000 1 12,000 90 10,800




323 [FEUCZ2LE L Of0|& X|7|= U REt 0 nz{o[oF7| 16,000 1 16,000 90 14,400
324 |H327] 3 S UESi= 18,000 1 18,000 90 16,200
325 [E£51 FK| EefA - 100HE I3 Oj2|0j2] "X 35 oy S EEZ|7{(X|StA 15,500 1 15,500 90 13,950
326 [E53H 7tE & =t e 0| C|of & 15,000 1 15,000 90 13,500
327 [2t0F W, E|AtStD & SHA|? A [=X<} 18,000 1 18,000 90 16,200
328 [2{A|Ot= FA0| &[] St=7t AYHE ZANAH L& 18,000 1 18,000 90 16,200
329 |22 Ao|3e| £ &5 ojlojo] #IH HEo|E 17,000 1 17,000 90 15,300
330 (21 R £ ot TY 13,000 1 13,000 90 11,700
331 |27| &2 THaCH ENe Y | 15,000 1 15,000 90 13,500
332 (22 X, Ya|A - 25 AL} EH QtEL OIZX|S BHLO0|E 28 SHR A teatze 14,500 1 14,500 90 13,050
333 |2HA EiA|0|l= SE &=HO0| LCt 7tE ZE(Feelm) 17,000 1 17,000 90 15,300
334 i?:gﬁﬁl 5 AN - 2O otetol 2 o CHEIX|QF ZEI0[E &ot it o] aro . 18,500 18,500 %0 16,650
335 [2IHE &+ = 10CHOf| A EC Yyry HESEA 15,000 1 15,000 90 13,500
336 |2 & 2ot telato| = 17,000 1 17,000 90 15,300 TARALH
337 (21 ¥ steto] Az glato|= 19,000 1 19,000 20 17,100 TDAFALH
338 |2|Y =F Aoy gleto|= 17,600 1 17,600 90 15,840 TARALH
339 (Otglo] ME = =2 SHA o 2432 11,000 1 11,000 90 9,900 SHAAIR
340 |OHEEAE1~108 ME o2& 119,000 1 119,000 90 107,100 | mApALH
341 |OHEEXLE11~208 ME o2 119,000 1 119,000 90 107,100 | mApAIA
342 OFHBXLE21~30H ME o2& 119,000 1 119,000 90 107,100 | mApALH
343 |OHEEXE31~408 ME o2& 119,000 1 119,000 90 107,100 | mApAIA
344 |0t 258 7|9 YU wolE 15,000 1 15,000 90 13,500
345 OS2 & B4 Q0| |Lte FINES 13,000 1 13,000 90 11,700
346 |02 % 7| ¥ E TtE£ K-POP &5 7t Edh 15,000 1 15,000 90 13,500
347 |0t 9| Xt 2zgA 17,000 1 17,000 90 15,300
348 |OHX|9F 28 AHE 15,000 1 15,000 90 13,500
349 [OFE0f 9j= A WSRO e 17,000 1 17,000 90 15,300 A
350 |Tt2| &S O] e 18,000 1 18,000 90 16,200
351 |2HeF LH7F LI2tE CHARICHH?: MA| A|BIC 2 ot M THE I BX| = A= 16,800 1 16,800 90 15,120
352 |t Ao AL 22|Y ZILAOIM T At A HIHK| s Il 50| Cjof 20,000 1 20,000 90 18,000
353 |23t R Hjlf = 252l 23t SHlH|= 17,800 1 17,800 90 16,020
354 |2t 2 Bl 2= B30 Xst T ES 22,000 1 22,000 90 19,800
355 |2tetE B =02 M RELES 19,500 1 19,500 90 17,550
356 BtetAELY EUt2 HE5h= B OO0 Z22) 6ol R X717 S8 F g 0 =23t 22,000 1 22,000 90 19,800
357 (2ol TA ES PSR ZLa|A MY 17,500 1 17,500 90 15,750
358 (20| 20| &l= & - SHE HQt L{7t Dt A A2t 2 M2 14,000 1 14,000 90 12,600
359 [SHEO|AM BHE X|2| = A M2 16,800 1 16,800 90 15,120
360 [EAZ U4 249 7|1 Chatz et 13,000 1 13,000 90 11,700
361 [OfL|<t S0l 2HRE =as| 18,000 1 18,000 90 16,200
362 |04 Hl RI1E & Ax|s SEZA 15,000 1 15,000 90 13,500
363 (Aol HE qE HEZ| 15000 1 15,000 90 13,500




364 [HE 0 QB T MAL 227t He BE A Y Hofolupg 14,000 1 14,000 £l 12,600
365 |H2|2E OF2 ARRIZH |xe EELIES 17,000 1 17,000 90 15,300
366 |HZ2|Y BTt Zldet MEOIEMN 13,500 1 13,500 90 12,150
367 |HIEFQIX|Q| & - QIBX|S5 ALY, ChE| E7Hs3T | ojzzA 18,000 1 18,000 90 16,200
368 |25 s 2% 7IE HiE goja 20| HotE 3| 16,000 1 16,000 90 14,400
369 |HEEL ME L&l 2] M XH 18,800 1 18,800 90 16,920
370 |HE Y= RES 9 stAarte 16,000 1 16,000 90 14,400
371 | 2HO| A 2L 15,000 1 15,000 90 13,500
372 |25 Ef {2l 242 OfL|O} Ho|& Bojs= 2ol 28,000 1 28,000 90 25,200
373 |25 E 9% et oty 17,000 1 17,000 90 15,300
374 |RFo| A= HEA 15,000 1 15,000 90 13,500
375 |2 E Ao Cist =& [ E 18,000 1 18,000 90 16,200
376 |2 E MH2 OtEH OFLtZ|AtRE A0 >3 15,000 1 15,000 90 13,500
377 |2YRlE| & OH= 1 ZY 13,000 1 13,000 90 11,700
378 | 2428 HHE D LY oM FA 16,000 1 16,000 El) 14,400
379 |22 Y9l AIIE - =2 16,000 1 16,000 90 14,400
380 [R717t &= A28 EE 16,800 1 16,800 90 15,120
381 | ROl ZAFYE: LIE Qietol= 17,000 1 17,000 90 15,300
382 |Ral3 22 GUH AC SAl- |OfEfS} 13,500 1 13,500 90 12,150
383 |2 S OlEA 2427t 10ES ¢ ae ot2|E A 15,000 1 15,000 90 13,500
384 |2ECte A HES 2| E A7 =7} HE Sl 15,000 1 15,000 El) 13,500
385 | 2710] ofL|ct ke =gotz| 16,000 1 16,000 90 14,400
386 (22|13 & szl o S 22,000 1 22,000 90 19,800
387 |28 MA LA 18,800 1 18,800 90 16,920
388 |®H? 707t W HE =t SEET 14,000 1 14,000 90 12,600
389 [R? L ot Lm0 4z SEET 14,000 1 14,000 90 12,600
390 |#2te MOF 3= o] Hl 2e|gtn 14,500 1 14,500 90 13,050
391 |0|=01M 7|2 & ghALE o|2t=41zt 17,000 1 17,000 90 15,300
392 |O|ELIQI HEH o 7{0QISHE CHAtRH B 16,000 1 16,000 90 14,400
393 (O] MHE @Izt 1= Mad Hot 3| 15,000 1 15,000 90 13,500
394 |0|2f MCHE 2I5t 7|2 £ 0I74 He 443 OHX| & H4=otd 3| 15,000 1 15,000 90 13,500
395 (O] MCHE 2ot A4 oY Hot g 15,000 1 15,000 90 13,500
396 |0/2f MICHE flst 22 a4 Hotd 3| 18,000 1 18,000 90 16,200
397 |0|2f MCHE 95t 213 Hi = gt A Hot g 15,000 1 15,000 90 13,500
398 |0l2f MICHE 2leh A 2|1 0|70 Holg 3 15,000 1 15,000 90 13,500
399 [O]2f MCHE 2ot 7| = O] &= Mot g3 15,000 1 15,000 90 13,500
400 |O|2f st A=0|, ohd2 22[H| 0] & 12,000 1 12,000 90 10,800
401 (D24 E QJct 2tst0[+11 Al E14 shat7] 9 10Y S O QH H| 18,000 1 18,000 90 16,200
402 (O|2Hofl M Fsh EZLICE EfX| & cHe 15,000 1 15,000 90 13,500
403 |O|2fe| ms{AIS2 O| ZiEt 454 gy 15,000 1 15,000 90 13,500
404 ;Eil};;f s e aaoH oS 2Re A= 4= EEH NI 20,000 20,000 90 18,000




405 (Oj=-2Xt7| =ae AAEA 22,000 1 22,000 90 19,800
406 (2= SM 2 - YoM 7HY &l Ho|AA M = H of 3| ALS 16,800 1 16,800 90 15,120
407 |HEH 2| OpX|9} QIE7: Bt 2| E XEHO|A 21A]7| B 2| tat SHRE Li++CH sl AR 25,000 1 25,000 90 22,500
408 [HICIHE2 O{C|2 7t0F &7)17 - 7|2 97| X|2] Z| 7 2 | 13,000 1 13,000 90 11,700
409 |HIGHEZ ECH2[7|E othtuQ? e XIS A 17,000 1 17,000 90 15,300
410 [HH2O| E[Of Aot +7t e 14,000 1 14,000 90 12,600
411 [HFO| dlof &T o’ g+ =FE 18,000 1 18,000 90 16,200
412 (HHZ2eof HE ¢ AFIRE EFFLA| s =at 20,000 1 20,000 90 18,000
413 [dtns, @0 X1 HIMEHTS QX HBIRA 15,000 1 15,000 90 13,500 SHA AR & A
414 (gt F=o| HX|2 HIMERNS fI=HSIA 15,000 1 15,000 90 13,500 SHHAH E A
415 [BteX| £ 2] nitM LIA|F & OpAS| A BEA 23,000 1 23,000 90 20,700
416 |HHEH7F DA™EA 52%H7tR? =2 0|-xH QIS Ml 28 14,800 1 14,800 90 13,320
417 B2 Mo Mlnt o], 3 FAX| 2o 15,000 1 15,000 90 13,500
418 |HHEZ2 S1OJEl 2R A BMGE <28t 14,000 1 14,000 90 12,600
419 (27| At Chal oto|= 19,300 1 19,300 90 17,370
420 |L23StE A Y ] OhSAH24 15,000 1 15,000 90 13,500
421 2o MA A o|=ol =HSt A 23,000 1 23,000 90 20,700
422 e W Ol £2 22 O{R0HK|H - A Q21YX| F30| 2zoaR 19,500 1 19,500 90 17,550
423 (Hgste A X o} Q| 3ol ImE= 17,000 1 17,000 90 15,300
424 (B4 A| 2 H Ols@ ENSHAL 19,500 1 19,500 90 17,550
425 |H{ L2t 9 F HiCh BTy oLt ME 13,000 1 13,000 El) 11,700
426 |H {7 O2Moz HYSS THELIC QM B} St MENY 17,000 1 17,000 90 15,300
427 |H2 X SF MO Azt O| X| O} 2 2H Y 13,000 1 13,000 90 11,700
428 |HOL2 M|CH ZAM 2B[H 0| & 12,000 1 12,000 90 10,800
429 |H{H2 D{MAL =23 act2.x0| &8 M 19,000 1 19,000 90 17,100
430 |HEFolE Axel e s 14,500 1 14,500 90 13,050
431 [HZ[ At grpel | 18,000 1 18,000 90 16,200
432 |H|o[H| BfA & HE s 29,800 1 29,800 90 26,820
433 [ 20N Ohs =HtO| XA 15,500 1 15,500 90 13,950
434 |HZ ZO|X[ 2k ObX HO{X|T Y40 e ! ZE2] 18,000 1 18,000 90 16200 | mARMEEN
435 | S ol d=2 ME5H= 3|0 C|xHo| a4 E3xn 15,000 1 15,000 90 13,500
436 |& &= Fofel AlQIE L& CHe 15,000 1 15,000 90 13,500
437 |t A2l AW EHo oh= X|2|H K X|2|2 DLt Tfettlgel & A HH felgtn 15,000 1 15,000 90 13,500
438 (2R2H3Z 7|8} FLHA 82 NS 15,000 1 15,000 90 13,500
439 |E0| ZE 0|Zlel 49 Mztetn 13,500 1 13,500 90 12,150
440 [EO[X| @f= EA| HHEE 158: 350 i U= & 1 E.S. SHE WER|LHI 13,500 1 13,500 90 12,150
441 |EO|X| @f= EA| HHFE 28: LI2O| H|H Z 1 E.S ZHE WER[LIR 13,500 1 13,500 90 12,150
442 |HO|X| @iz Al HOEE 28 L} H|E 2 2 E. S @HE WER|LRI 13,500 1 13,500 90 12,150
443 [HO[X| Qb= EA| HHEE 12: 350 A= & 2 E.S. SHE E2|LtQl 13,500 1 13,500 90 12,150
444 |HO|X| Qb= A=20| 23 Atz 17,000 1 17,000 90 15,300
445 | S X Q17+ 7S HEsE =0t5 14,000 1 14,000 90 12,600




446 |& B D HEY shrg| s 20,000 1 20,000 90 18,000
447 |&, AMESHE OHg: 22|50 M2 UM 0|F29| 7Y MZ 13,000 1 13,000 90 11,700
448 |22 £ 271 (22K 16] OfEE|Y mMEYF == 24,000 1 24,000 90 21,600
449 (S50t Hof [ERHEZH 22| ) e O] 210|274 Al 13,000 1 13,000 90 11,700
450 |24 ROt = 0|5 25 ML i 20| C|of 19,800 1 19,800 £l 17,820
451 [t et Zheet MA - 7| 2017 @SE'E OfEA 1 X L2t TH2, 0|X| M S7hetgt 15,000 1 15,000 90 13,500
452 |24 E0| SOotRt&ELICH s e|XdA 13500 1 13,500 90 12,150
453 |8 H1g| A2tE 25 AkSt 16,500 1 16,500 90 14,850
454 |2 SA EHE Zel2 2R 15,000 1 15,000 90 13,500
455 (2% $H Xt o|&zl =Este A 14,000 1 14,000 90 12,600
456 |Z 89| HE DA SRE Mets 25000 1 25,000 90 22,500
457 |EEH= & "1 SALLE 16,800 1 16,800 90 15,120
458 |[&§2 3 SIFEE Al S A 17,000 1 17,000 90 15,300
459 [RE[AEIDH ot o) =t 13,000 1 13,000 90 11,700
460 (23 oMt 2HO| H3| S| 7kA| . A[0] 1 2ojlo] X| = 2|of 19,800 1 19,800 90 17,820
461 |H|7t @H ge|= 4F /I 2golstA 16,800 1 16,800 90 15,120
462 [H|=o| EHd1: A|TIS 98t o &S Zoirt LA HArZ| 38,000 1 38,000 90 34,200
463 |H| Lt 5| Yot b Y Hex| H== 13,000 1 13,000 90 11,700
464 |H|A3] 40| =EHste A 14,800 1 14,800 90 13,320
465 (U =L Zojzte| 2% SHEA 14,000 1 14,000 90 12,600
466 (A28 M oLt H &4 15,000 1 15,000 El) 13,500
467 |Atato| Apdet z22| fI=EsteA 14,800 1 14,800 90 13,320
468 |ATRIS S0 AtE k- AHAE 16,800 1 16,800 90 15,120
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535 |MYAIo{E oict 4=4 FOLAE 14,000 1 14,000 90 12,600
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541 |&~HO| AUACE o= Mol 2% 13,500 1 13,500 90 12,150
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591 |aofe| HIY =& 28 5t0]-2 =0lE 13,000 1 13,000 90 11,700
592 |4 CH7b & otof g 7|2 Rt mutM o|set EES 17,000 1 17,000 90 15,300
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723 |O|O|X| XM= HEXCl 22t ZENE ol24 ARXIL 25,000 1 25,000 90 22,500
724 |O|BIXtS WG HLE | 16,000 1 16,000 90 14,400
725 |O|'H Ol X|= AFRFQILICH UAAE xolzt=rlzt 17,000 1 17,000 90 15,300
726 |O|Abst DXt 7HA MHE 19 S|Z A0 go| = D ES— 13,000 1 13,000 El) 11,700
727 |O|AtsE ME 0| & AfRt oEQE 2E-5|H Zetmaa 33,000 1 33,000 90 29,700
728 O] A2tAQ| J4A} SHA ZH| 2 o7t 2 PN 12,000 1 12,000 90 10,800
729 |0[0F7|2 EOf 7= HES ¢ HAR EMET HAAO| 15,000 1 15,000 90 13,500
730 |O[OF7|Qt QIZOBHOR He A HY 2YY of 244 28,000 1 28,000 90 25,200




731 [O| R aQIH MRS oMM E 12,000 1 12,000 £l 10,800
732 |0|& U= HHol Het2 = JHora R 12,000 1 12,000 90 10,800
733 [O|H| X| 7= Yot Anta? eHE =240 15,800 1 15,800 90 14,220
734 |0|E & Crgst DM - Lo A RESHD A2 FA0j|7A 0|43, =3 0|, 2H0|%}, X2 Aol = 2H 27,500 1 27,500 90 24,750
735 (12 o T X227t Bot= {FEO| HEl 0[0F7 X2 Zetoa 13,000 1 13,000 90 11,700
736 |@17to| X2 BiotM HFCHE= AL 16,800 1 16,800 90 15,120
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739 [QIHo 2 I 7= 27| 0[of7| x| <2|Q 58 Hot Y3 15,000 1 15,000 90 13,500
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784 |'SHE0| ol A& £0|E X|Act 0|57] 12,000 1 12,000 El) 10,800
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789 |EM&2Ql 7k B EAM11 0|12 Q| o2& 15,800 1 15,800 90 14,220 SHAALE & A
790 |=xz ol o1zt B B OM12 ojne 9 o2& 15,800 1 15,800 90 14,220 SHA AR & A
791 |87 E0| QZt B B ojne Q| o2& 15,800 1 15,800 90 14,220 SHAMAIE £ A
792 |"8X|HE 3RO| I = SiH| AT E 9,000 1 9,000 90 8,100

793 |M|7F B2 ATt E[Of & L] o 11,500 1 11,500 90 10,350

794 [M7F &AL EEXRI7LRQ FAES= 18,000 1 18,000 90 16,200

795 |MZ &t 2047 SLH fFURE 20,000 1 20,000 90 18,000

796 |MQl AEIS 9jCt Mzl 14,000 1 14,000 90 12,600

797 |MIA2| S H&LICt OtA E|3A 14,000 1 14,000 90 12,600

798 | =2tz 2 0|3t 27| Hal 24,000 1 24,000 90 21,600 MA
799 [EEZ 2 WE|FO| 0]0F7| 2y 17,000 1 17,000 90 15,300

800 | =3t HE, X|5 752 Z4|! ue 16,000 1 16,000 90 14,400

801 |Z=EItH| SICHIF ZAUSIX| Y= =019 14,000 1 14,000 El) 12,600

802 |=M1S-&9| Ojstut 50| b &= 28,000 1 28,000 90 25,200

803 |=MAICH Hofmxy ofstm M, ME 12,800 1 12,800 El) 11,520

804 |=4M0o| LmA Zu Al 13,000 1 13,000 90 11,700

805 |Z=MO| Tt OfQI+ERRI 2IER7| 18,500 1 18,500 90 16,650

806 | =S THOtH{X|: SOLA|O BH O & Chtzt &% ACh7| ALO]| #7O[%| 16,000 1 16,000 El) 14,400

807 |Zn&™ Fol0| EX Lt &4 15,000 1 15,000 90 13,500

808 |Z0Ist7| M0 LHEf 2= 17,800 1 17,800 90 16,020

809 |22 =& #HAM 2F O]+ 18,000 1 18,000 90 16,200

810 [E2 a2 912 7HA| +=¢ O|MX|, ZAMH, 20t = 15,000 1 15,000 90 13,500

811 |5 E & +otud 2+0[ 0|0 17,800 1 17,800 90 16,020

812 |E530| 2UCH o{EH A ot oty 17,800 1 17,800 90 16,020




813 |H0|& 3tst AT SR Mztolgl 17,000 1 17,000 15,300
814 |5 2to|H2|E Ol M| 2 2[H| 0] & 12,000 1 12,000 10,800
815 |55 A8 ¢ - IS, NSl DM S A>BCH DB A AR Q) mEsnig=FS| 20,000 1 20,000 18,000
816 [BMQt 2H|&A Oj& HF I EY AEE 14,000 1 14,000 12,600
817 [EE4IH: 2 Of9 ME (11-153) olE 2AH 75,000 1 75,000 67,500
818 [ZZ2AMEH: 2 ot ME (1-58) olE 2AH 75000 1 75,000 67,500
819 [EZQMME: ZE oY ME (6-10F) o4& 22H 75000 1 75,000 67,500
820 (&g 43 22| A 0| M O|5d, st K| H A 19,000 1 19,000 17,100
821 [B&n WEI|ERE Tststu FYsirt &Mzt = 16,000 1 16,000 14,400
822 [BEtmEEH ARGt 2|49 1% w3 TENE ALZtOt X|OF7| 18,000 1 18,000 16,200
823 [B&o| BHAt= CHELE 38 B7|7F &&= Ho| 59| & Hs= 15,800 1 15,800 14,220
824 |E7|& AtELro] H3stct ALO|E S| EB| dl A2l 17,000 1 17,000 15,300
825 |Al7+ & A8t A =0l W= ZEI+e 14,000 1 14,000 12,600
826 [X|7E RAHYEME 7t ENR 249 6Y z=Z 15,000 1 15,000 13,500
827 |XI7& FoFRH Or2 8 2H8 7ot g 12,000 1 12,000 10,800
828 [X|7-8 A2lE 7|Ust M2H0 - 7|27 HEZ JHs X T =2t HHE syt xS st =T 16,800 1 16,800 15,120
829 K| E H2l& MEj &4 =& it Al 2to|xt=3 2LF 22,000 1 22,000 19,800
830 [X|7E MEAGH AR E - 22| X|7E I8 A= 1182 2 0[0f7| ERNESS CH2 15,000 1 15,000 13,500
831 [X|FE0| =&SIAELCE @FQ AL O2| 1 440f CH5H0] ghEf AX|L 18,000 1 18,000 16,200
832 [R5 EH A2ln SRS Mat e ool 14,500 1 14,500 13,050
833 [X|7Lof OHX| 2} 182 UK} INESESFAy 16,500 1 16,500 14,850
834 [X| 72 Qe H+ i 22t 17,000 1 17,000 15,300
835 [X|7tstm 1mA| A s +=¢ daz|E MEHE 13,000 1 13,000 11,700
836 [Xlak MO|MTt DS = U= A AX 16,000 1 16,000 14,400
837 |XI2Z|E €M HOol AS: 32 Ao 2HES ofEA 2 A=t g2 18,900 1 18,900 17,010
838 | X|2|"4 1t THHSH= 807t MlA CI™(ME) X2 A2 Y 35,000 2 70,000 63,000
839 ;IE%I‘ELXLP?EI}%EH QI 0l - ofgtnt X|MLt@lolate HAo 23l Srfol Zm = olgal 18,800 1 18,800 16,920
840 [X|FH|Q| RFE AAE x| &H| 19,800 1 19,800 17,820
841 | K| &7t MM EAl= AEHCH gz, F 15,000 1 15,000 13,500
842 | XA HOIY . mteh Mg BRE Ql2t ™ O|AIZH XIS 16,000 1 16,000 14,400
843 X2, X[HX|X| = AHTIO| EHF = ¥t 21#H 0[0F7| A2| Kt A TER|X| 24,000 1 24,000 21,600
844 XX 5|B 2 2zt B[22 HHE o|&zt 14,000 1 14,000 12,600
845 |A|H s{¥S Qo E|l2Z HtE-1If SMH o|&zt 14,000 1 14,000 12,600
846 |X|Hsto RE A 7|2 &t MoIM 15,000 1 15,000 13,500
847 [X|L|X|7| BGPT: & CHE 9I2 MGPTS ZE A &3 15,000 1 15,000 13,500
848 (RS WfHAX|2 XS 0|&7|, MHF 17,000 1 17,000 15,300
849 |ZIM M= Z2|0|0] Z2 Pt HEY Z=e| 24,000 1 24,000 21,600
850 [HE Ue AME 0|53 = 18,000 1 18,000 16,200
851 [Zast ntetRE0| 2F oldtAl o|X|& LAE 16,700 1 16,700 15,030
852 |MetEAEetE O|F A TR F.W. LA E3tA 13,000 1 13,000 11,700 SHAAIA £ A
853 | A7 A2 F0| SFIA Q= 17,500 1 17,500 15,750 SHM AL & A
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955 |ZH= ol T HHg oY e 28,000 1 28,000 90 25,200 TAMAIE
956 (== FfLIC} o|F291y e 24,000 1 24,000 20 21,600 TAMAIE £ A
957 |Zal= 3 Z0}E|o} dRzedy FYEL 17,000 1 17,000 90 15,300 TAMAIE
958 [Zal= g|=27|0 FEoA1Y e 28,000 1 28,000 20 25,200 TARAIE £ A
959 |20 0 bt ot SR ARE S OO ARAA [ LRI zesy 16,000 16,000 0 | 14400

960 [HAHADIA M2t 9B A SRS 18,800 1 18,800 90 16,920

961 |St= YOtCh Hel2|2t szt 22gA 18,000 1 18,000 90 16,200

962 [SHRE ZAHY ofH Z|glot e 18,000 1 18,000 90 16,200

963 [SHHE 100 ME Q17HEHA ¢ ML gl eelesg 18,800 1 18,800 90 16,920

964 [SIHE 1003 & Zd +=¢ | AE === 18,800 1 18,800 90 16,920

965 |SHHE 100 & ol = B Zleeglesa 18,800 1 18,800 90 16,920

966 [SHHE 1009 ME HE £ FEE gl ezl s 18,800 1 18,800 90 16,920

967 |SHQF 7H ghed 0l gag 18,000 1 18,000 90 16,200

968 [St0|E2|E Al Sl ME 13,000 1 13,000 90 11,700

969 |SHE 0| ZO0tAM dsdl 2 Los 18,000 1 18,000 90 16,200

970 |Stuo| &, mHo| U - stE S7F ZEN St 3y -8 A= 25,000 1 25,000 90 22,500

971 (2t M2 EUl= LMi2|e 2E A 28] 2l =EFE 17,000 1 17,000 90 15,300

972 (3t M2 EU= LAMi2|e 2E A 247! £RE 17,000 1 17,000 90 15,300

973 (3t HoE Y& upsh A 7t7| 2 X| ZL|ofEfjst 16,800 1 16,800 90 15,120

974 [ QZ&0| CHE A2 Z0jA| LtEhe| HlA Aes 15,000 1 15,000 90 13,500

975 [SH=AIS HLI NE ETEge:} 222 72,600 1 72,600 90 65,340 SHAH Al




976 |St=0IX|SE 01: =2 A|S7H ZAH PR RS 25,000 1 25,000 90 22,500
977 |t=210|2tH BHEA| 2otof o Y& 2R Hojztno|c|of 18,000 1 18,000 90 16,200
978 [St=T™ 20| =& o|orz| HEDHLIE 13,000 1 13,000 90 11,700
979 |sto| MECK: EfLA H aztol ZEHUE 20,000 1 20,000 90 18,000
980 |oHtOLC| 2 F2|sHOF St w7t BHEA| 2Lt FE2] CELEES 13,000 1 13,000 90 11,700
981 |oHEO| Al2ta: FHe AXAMEY HEEt o2 Ql(Z oLt 15,800 1 15,800 90 14,220
982 [HAREA, MAE XIb{siCt OFEl 24| US| 30,000 1 30,000 90 27,000
983 |dhzAd sty 235U 12,500 1 12,500 90 11,250
984 |SH2|ZH 1~45 HE JK 28 2%t+H 93,000 1 93,000 90 83,700
985 |dH2|ZE{Qt = ¥XH JK 28 23ted 9,500 1 9,500 90 8,550
986 [sH2|ZEHet = &Xf2 JK E¥ 2a+H 9,500 1 9,500 90 8,550
987 |dH2|ZE{Qt = &A13 JK 28 23ted 9,500 1 9,500 90 8,550
988 [dH2|ZHt = X4 JK E¥ 2a+H 9,500 1 9,500 90 8,550
989 |dH2|ZE2t F22| HE1 JK. 28 =83 9,500 1 9,500 90 8,550
990 |sH2|ZEet 32| 482 JK E¥ e 9,500 1 9,500 90 8,550
991 |dH2|ZE et F32| 43 JK. 28 el 9,500 1 9,500 90 8,550
992 |sH2|ZEQt F52| H84 JK E¥ e 9,500 1 9,500 90 8,550
993 [sfitof &t 2% | 18,000 1 18,000 90 16,200
994 |dl= 2hot =3t o|¥z =2 15,000 1 15,000 90 13,500
995 |S 7|9 B E A 7|2 &t MOIM JEM 15,000 1 15,000 90 13,500
9% | £o=2 = 7] o0l 13,500 1 13,500 El) 12,150
997 |SHHX CHLIR £O| RE 24X Y <e/stn 14,500 1 14,500 90 13,050
998 (M=t olZut 2% A0 PR D=0l AME| 13,500 1 13,500 90 12,150
999 |TMu 7|G =TIE £ H 282 ZAAH & 16,800 1 16,800 90 15,120
1000 | A2 7|5 =7t 2. & WA 42 ZAA L& 18,000 1 18,000 90 16,200
1001 |8, L= U7t 8o R R HoHo|dtE 13,000 1 13,000 90 11,700
1002 [H29t 9=, ZIHMS Q10| SHZALZ 0|0f7|8= ® Mgzt BOLIAE 18,000 1 18,000 90 16,200
1003 |8l S== 1: Y= A} A" AEX L 15,000 1 15,000 90 13,500
1004 |8l <=, slf= 2: ®m}o|of AEA AXIL 17,000 1 17,000 90 15,300
1005 (8l ==, sli<= 3: #0|2 A AEX L 16,800 1 16,800 90 15,120
1006 [0 M35t X729 O| CHER EMET X GA 15,000 1 15,000 90 13,500
1007 |2H& &l 20f A AEfHHE| st AL 22,000 1 22,000 90 19,800
1008 |&250| ME el Sff e ST 37,000 1 37,000 90 33,300
1009 |22 SHX| B =5 LT} 1 Hzd 90| =3BOOKS 13,000 1 13,000 90 11,700
1010 | &S SHX| B =3t QjL|T}. 2 e H=d 0| =2tBOOKS 13,000 1 13,000 90 11,700
1011 [Z2stx| 2k =it 3 . Hzd 0| =2+BOOKS 13,000 1 13,000 90 11,700
1012 |2 SHX| B =5t 4 B2 2 & nk Hz9g 0| =2tBOOKS 13,000 1 13,000 90 11,700
1013 [&EStX| 2 =3t L|C} 5: 21 E0| 7t 2 s Hs9 0| =2tBOOKS 13,000 1 13,000 90 11,700
1014 |2 =5= 0 i UZE] neSSHH 16000 1 16,000 90 14,400
1015 (2| = Et3d dAFe =HoteA 14,800 1 14,800 90 13,320
18,222,200 1019 18,323,200 16,490,880




